

1

• Yule process <sup>عملية يول</sup> (linear pure birth process model)

(Pb) If  $X(t)$  represents a size of a population where  $X(0) = 1$

Sec 6.1.3  
+ pb 6.1.5  
p. 282 & p. 284  
See ↑

Using the differential Eqns

$$\frac{dP_0(t)}{dt} = -\lambda_0 P_0(t) \quad (1)$$

$$\frac{dP_n(t)}{dt} = \lambda_{n-1} P_{n-1}(t) - \lambda_n P_n(t) \quad (2)$$

$, n = 1, 2, \dots$

prove that  $X(t) \sim \text{geom}(P)$ ,  $P = e^{-\lambda t}$

where  $\lambda_0 = 0$  and  $\lambda_n = n\lambda$

and then find the mean and variance of this process

Ans:  $X(0) = 1 \Rightarrow P_n(0) = \begin{cases} 1, & n=1 \\ 0, & \text{otherwise} \end{cases}$

( $P_1(0) = 1$  is) 100% <sup>بجانبه 1 = 100% في البداية</sup>

$\therefore \lambda_0 = 0 \quad (1) \Rightarrow \frac{dP_0(t)}{dt} = 0$

$\therefore P_0(t) = \text{Constant}$

$\therefore P_0(t) = 0$  at  $t=0$  i.e. ( $P_0(0) = 0$ )

$\therefore P_0(t) = 0 \quad (3)$

$$\textcircled{2} \Rightarrow \frac{dP_n(t)}{dt} + \lambda_n P_n(t) = \lambda_{n-1} P_{n-1}(t)$$

$, n = 1, 2, \dots$

$$\therefore \lambda_n = n\lambda \Rightarrow \lambda_{n-1} = (n-1)\lambda$$

$$\therefore \frac{dP_n(t)}{dt} + n\lambda P_n(t) = (n-1)\lambda P_{n-1}(t), n = 1, 2, \dots$$

Multiply both sides by  $e^{n\lambda t}$

$$\underline{e^{n\lambda t}} \frac{dP_n(t)}{dt} + n\lambda \underline{e^{n\lambda t}} P_n(t) = (n-1)\lambda e^{n\lambda t} P_{n-1}(t)$$

$$\therefore \frac{d}{dt} [P_n(t) e^{n\lambda t}] = (n-1)\lambda P_{n-1}(t) e^{n\lambda t}$$

$\frac{d}{dx} = s \Rightarrow dy = s dx$

$$\therefore d[P_n(t) e^{n\lambda t}] = (n-1)\lambda P_{n-1}(t) e^{n\lambda t} dt$$

By integration from 0 to t

$$\int_0^t d[P_n(x) e^{n\lambda x}] = (n-1)\lambda \int_0^t P_{n-1}(x) e^{n\lambda x} dx$$

$$\therefore [P_n(x) e^{n\lambda x}]_0^t = (n-1)\lambda \int_0^t P_{n-1}(x) e^{n\lambda x} dx$$

$$\therefore P_n(t) e^{n\lambda t} - P_n(0) = (n-1)\lambda \int_0^t P_{n-1}(x) e^{n\lambda x} dx$$

$, n = 1, 2, \dots$

$$\therefore P_n(t) e^{n\lambda t} = P_n(0) + (n-1)\lambda \int_0^t P_{n-1}(x) e^{n\lambda x} dx$$

$, n = 1, 2, \dots$

3

Multiply both sides by  $e^{-n\lambda t}$

$$\therefore P_n(t) = e^{-n\lambda t} \left[ P_n(0) + (n-1)\lambda \int_0^t P_{n-1}(x) e^{n\lambda x} dx \right]$$

(4)

recurrence relation

at  $n=1$  (4)  $\Rightarrow P_1(t) = e^{-\lambda t} [P_1(0) + 0]$

$\therefore P_1(t) = e^{-\lambda t}$  (5) where  $P_1(0) = 1$

at  $n=2$  (4)  $\Rightarrow P_2(t) = e^{-2\lambda t} \left[ P_2(0) + \lambda \int_0^t P_1(x) e^{2\lambda x} dx \right]$

(5)  $\Rightarrow P_1(x) = e^{-\lambda x}$

$\therefore P_2(t) = e^{-2\lambda t} \cdot \lambda \int_0^t e^{-\lambda x} e^{2\lambda x} dx$

$P_2(t) = \lambda e^{-2\lambda t} \int_0^t e^{\lambda x} dx$

$P_2(t) = \lambda e^{-2\lambda t} \left[ \frac{e^{\lambda x}}{\lambda} \right]_0^t$

$P_2(t) = e^{-2\lambda t} [e^{\lambda t} - 1]$

$P_2(t) = e^{-2\lambda t} \cdot e^{\lambda t} [1 - e^{-\lambda t}]$

$\therefore P_2(t) = e^{-\lambda t} (1 - e^{-\lambda t})^2$

(6)

4  
From (5), (6), We can deduce that

$$P_n(t) = e^{-\lambda t} (1 - e^{-\lambda t})^{n-1}$$

$$P_n(t) = p(1-p)^{n-1}, \quad p = e^{-\lambda t}$$

$\Rightarrow$  geometric dist<sup>n</sup>  
 $\therefore X(t) \sim \text{geom}(p), \quad p = e^{-\lambda t}$

$$\text{Mean}[X(t)] = 1/p = e^{\lambda t}$$

$$\begin{aligned} \text{Varianca}[X(t)] &= \frac{1-p}{p^2} \\ &= \frac{1 - e^{-\lambda t}}{e^{2\lambda t}} \end{aligned}$$

#